Homeuwssk 4  Solutons

0

(1) +++—— +—
R () = LT X)X+

Nz
Rx (o) = %-(f%4+%+!+lf(+o =)
- SNIPR R B
Dx (1) ,,1_](+f+f |41 =y =1 =]) -
D2y s L (sl =iA+t41-)) ==
% {(2) 7( ;
= L (A Al - ) =
R (3) 1(' x ) :

§hwikuij Ry () ~ Ax(5) = Rxle)= =

O0+f+—«++¢
= _
Ry [0} -g(ubu%wlﬂfpﬂ)_,

= (gl AFF140) =0

Ry (V) g(a ! )
Rx(i):%’—(ﬂﬂﬁl V=14 - 4] )=0
RX(2) = £ (1 414 (-1-11 1 #[)=0

A I B R e

Simalosly  Rx(9) = Ex (6) = Ra(7)=0

OR) ~—+——+
R"‘[Q):fg—(l%wi—rl%lﬂ): |
fa (1) = ,f(:(‘,,,, 4 ) = —é
Rx(’l):i«(~+ff+iml—1—t-;):—-?l>
ReE) = ¢ H 1+ i=t2140)=
Rx(fk)“**é(-#) ) AT -1 —'%
Rx(S)= 2 L4t =1 =1 = ~1-1) "--:%




© -7t e xH)
: 10
W) o
yi{+T) = = {(447) .
’ |
Tor £ TH0 17_)?,(
i) = ,fou)x({wr)df
T-a‘)
jo—-T ] fo
s 2 feDdr [T T (T
o o 0 o o TJo
0 fo—T
B L,. le-T o
ST Tt [T cﬂ
lovo :
-1
= ﬁ { L N T 4 : 1637
o /\/\/\
Bx (o) = L9 jeue l6-2% “_“’ ‘ 0.1 ' I".
- 5 N
= B
w4y = oek?




1T

Cee 9 iy T T
(iﬂ) Qx(‘r)ln—l‘,—;f?.‘ld/& ! | | ! |
5 e Cl ‘
b L - T , . | :
24 (3T) | | 3 4 7 & ! [
B (1) = b0l Rxfo) = 60715
Lo 15 !
f/r.\" o /\-"~
@ Yit) = AGs ('S’(*B) AN l . .5
bW U\m‘fmwj,j distributed in (o, 27) ,Fh[e)
Rx (1) = E [ AGos(at+0) . Acm@ﬁme)] = f
2 |
: JA&°f3f+9).ﬁr-6’ea(‘3£+.3°r—+%)'_’ A : 24
>l
217

VT
- é; [ bj (o { G+ 3T420)db + Co,,g'{—bfdﬁ'}

- %;[04 a’lTCeo?(]«, _TAS— (ox3 T

i ——

/0‘!70
oy T E - o\
@ 1y Dinas o 0% ‘”?\”
ok ™ b A /\(b"\/
e O 3 — C o o\
o ol6:d 6. = o O'\/‘XJ
bt ool T IS
o-l

ol ol to O'OUP
0013



Jt i
—_ 5% —— o %J
20 om,———o:lf—on_dfo'%
21| o lo — ©lo #—*0)%
220 o 63— 93 — 0:0%
222 60 L /0‘0%
1210 60270 Do L
22t 0‘0[11/
0w T4

(2 + 0 1(2) 4 0 03(2) 4002030 4 6101 (y)
‘o 4

= ]Qf "}'{)'D](L}-)
]. 230 131{1/
(*a!-)
o pa —on O ng“
oo 019 —o {9 07’3(
o | h1@ — O-I¥ byci
f 2 Ol?;—»oig 6|g’-r
1 20 003 _)/Oog
1) Z-O?j- T .o 4+ p-5% 40.36 t03to 2h 40 .22
\ b
+6-079 4 00k

=1.%% Uw/wwaﬁa.'
o gn hids[message



(i) Hrory

0O Ho) "”010*'“0’2., D,’L_" ‘ 03&1 ) D’$?' “‘é
o ox o Ul N S R NG LR
fow O I8 — o-1g— 018 o '9 0. L D39
sl OIS 015 o1 6181 Mo g g o -1
o ! o [=— D°|V$c.,§ oL .
solo O — o] 1 b1 -
0D0S. = ) .
collo 0-0% 64 +0-3840-64 4044
oot 00F 03kt 0 4l +0i15 H0" ]
—=2-82 cL\QL,L/WM_

L) birasy
b.'Lf;o } ,

O‘Lf,d——b.(’,_—-,o,v — 5y 6 Y ey —
O'@”"bl}(——’b.g-ag.g e pa— 0% J

02" 8L — 0 L0 TTroL .
Oog/ 0-0‘{“‘-—'6_0< — 0 bS T D} B s
D2 &/ 0L ogrk,_ﬁ_og
6o ouﬁ-m/
0'0{}?]0'“’ To oo b+ 0k A0 24001006
G- oo 40 07
= 2.0 elanfnass
= 20 L)*%S/WSSQ_S{.
Tw_
0 o'y 0O M

o 64U L%f,,__—oa’b-ab 1}%1

20 651 — %

4 60§/-—0-0§r—~ o-o% g
2o €02 —0 ¢ 0% T = b04+to '§At)=h40}+00€-¥u~0
22+ 0-of Lt +o.0u 400l

ol oo
S RS
paal D0 I QIS v
) - ;)]% lon"'%/w-ﬂgs.a\%e ;



@ Cx ()= R

nN= 2’ log [14 1o | .
brio’ l&%y{{‘f*ibé]
= 1bb
OV = F [ Ret) ]

~axlT]
€

(= |
L

"7 ;]WAZP( ~Jbo o 2R

. ? At
(1) SKivo)= jxae»sm’ra of.
—)
ot
“ 2 g0 AT T Lo T

:z[

[»]

aloja (2m#e) 4 Sin (20w
LT A1 2] -

f(‘g T & )G taToll
D

2
- TolT.
- 'Q'f 0o s o TdT+ 9«&[@030\)

[}
]

- _Q«mZ;,ceéLw‘]
w

!
Coy (27140 )Tle~+ Con (27007 AT

]

5 -9 140
p-

-

X, Yo X Xy Yo XX Xg
Gy 03 0L bog 6.0 0ol Oof D-of
o v V!
'7<l1 Yo - Xg
y] o v, 1 i
Yo te Xy V%—HXQ
'5(1’ Mo o — !
'ﬁlu‘ (AR X} Yq—-)('q;l
vy
X IRRLRY .
;\’ fprol WU A= X6
¥ o XYL Vo Yg
Yg  Htd e T B
Xe ¥
‘ X'-[ %ﬁ



2 432 4b 49 =7
+ = 4+ > 46
B = B+ D42 42540 gs
77 7T
B(M) - :?7 +3 4 2 2Ty
7 1 1T
(YY) T & +8 110 448 - 7
Tag T S
E) = 5+ £ 42 38 4 o
N L o7 7
EELM] =9 [een] T = 289
' 9
Ig = ] F(x¥)- Ex)> =177
9 = L iy?) NI 219
f~ E(xy) - EULOEWY = 638
Tx TV
@ ugna e loush <2 elowment
(o) = 4t 9]
Ry — 3
- ) - A4 3 =52
Q‘x(!) - L’_f__j___—;;——— —.-g
’;L,L’,f‘ga”r('l’s ';L}3
’_,_'__’____,—r———‘_'_'— —_—
By (%= L3453 443 =30
cun s 3] [
Gol | Y [,
c(i) - -t)ﬂ/,s 6'"1«/3 b/ 51./3
()] ‘ 3
£ [, 57 SH

)%\_n) - ({o) N 4 c0). S A i) G

— 1Ay (2als) 7 (132)(4)
=144



@ ll\)—d%t\jnj oNe-2 (a/{vxaa L{)g}_% hils D1C in,)ﬂwmﬂm,,-
“The UBM@’L cotnu | oud 5 M Lo

ji: ioqn

L{h

—ﬁ»auwaﬂm%: l’loa:\]

1033




